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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x8=8

AxfEike dureoR et el ¢

(@) State the law of demand.
vzl Rfacst are =4t

(b) What is a market ?
G e

(c) What is market supply ? -
G el e

(d) What is inflation ?

Sarife e

Contd.



2.

(e)

(9)

(h)

What are the components of aggregate
demand ? '

Afas vifzwie wieeEE & G2

In the consumption function what is
total consumption when income is
zero ?

Colsl TETe S *[) S_ES (Sielq Wial {5 ¢

Give an example of progressive taxation
in the context of India.

OIS (FTE FRIEAE 9 AR4q Sriagel
|

Define fiscal deficit in a’ budget.

qieese ST wifbe gt x|

Answer any six of the following questions.

2x6=12

fAnfERe e Al ghr Bel ¢

(@)

(b)

What is meant by economic efficiency ?

Gt wroR sy &2

Define Marginal Rate of Transformation
(MRT).

AT 2Nfes =R viewl Wl
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(c)

(@)

(e)

(9)

(h)

Why is a firm said to be a ‘price taker’
in perfect competition ? :

o efSafere a4 efowms By 7@ azd
Farel (qe 27 ?

Explain bricfly the® concept “of
consumers’ surplus with a suitable
example.

5t T CHIZIF CICe SHTSIeN Bged «i9el
B I B |

Give Hicks’ definition of income.
239 OIRR W& IE 90|

What constitute the domestic territory
of a country?

Q2 (F IR SwETe [ & oeee 2w e

What is the condition for equilibrium
in an economy ?
QU LTS SIFAE 5% 52

Interpret Y = C + I in the ex-ante sense.

Y = C + 1T d9iFesiE i w9

When is a tax said to be buoyant ?
Ry T3, (@Al AT FIo! Y& Qe
_? ;
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(j) Differentiate between a direct tax and
an indirect tax.

ACTF 9 TF 2E@F I ALy F2

3. Answer any four of the following questions :
; 5x4=20

(@) Point out the distinction between shifts
in the demand curve and movements
along a demand curve.

BIfRul (F1F 9 @RI S 5137 beime
A e |

(b) What is meant by cross price elasticity
of demand ? What will be the sign of
the elasticity in cases when the two
goods are of substitutes and when they
are compliments ? 3+2=5

v o1 7w R g &
TER? {8 O AR AN (v 3
- Ffegeomrer fim & 390

(¢) Bring out the main points of distinction

between a perfectly competitive market
and monopoly. s
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(d)

(e)

@)

(h)

How is the market demand curve
derived from the individual demand
curve ? Explain diagrammatically.
e HifEn (@I 191 TSR BIRAIE S
Tfereat #iiR e bae aEse iy 41|

Define unemployment. How is the
unemployment rate calculated ?

2+3=5
fReqaR ke faal | FeRie *F (@ S
o Slered 212 :

What is a Multiplier ? Illustrate its
operation using an illustrative example.

: 2+3=5
o [ 7 GHIRAET FTRITS 3T RO G140
4|

What is ‘tax’? Mention a few impoftant
features of taxation. 1+4=5

T 2 o9 g U @Y SrEd 90

Explain regressive taxation with the
help of a diagram. State two merits of
regressive taxation. ’ 8+2=95
e RIS FAZF I 410N T B | @R
49 75 AR S |
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4. Answer any two of the following questions :

10x2=20

Rfee axprces Rcerar 17 Sea i s

(@) Explain the idea of opportunity cost.

(b)

()

(d)

Define and draw Production Possibility

Curve (PPC)? What do points outside

and points inside the PPC signify ?
3+3+4=10

TR G AR G 1 | B ASRA @2
e e wiw @3 @UmeR ke o
feesq A & spme

Explain how equilibrium is determined

in a competitive market ? Under what
conditions will the equilibrium be

stable ? (=3=10
efSrIiorER ITRe SREm & ne s

27 RY 91 | 5 59S @3 SiE i 779

Describe the circular flow of Income in
an economy.

93 SIS IiEE 1A 2[R I T |

Distinguish between the current
account and the capital account of the
balance of payment. Describe the
components of the current account.
4+6=10
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e Sged st Boiet W gae Biom
LS 16T 541 | 5B Byl wioEE Biaaet
oo |

(e) Describe the structure of a budget. How
is the revenue account different from
that of the capital account? 6+4=10

Jeb s Reser fat | wrerg Boiol e
Zp1eois & wEm @t e
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